Family law    Topic 2: invariable consequences of marriage
Case: Van der Westhuizen v. Van der Westhuizen and Another.
Parties: plaintiff: wife
Defendant 1: husband; defendant 2: husbands mistress
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Action taken: 
· Delict- the wife was suing for damages done to her caused by the affair.
· Adultery
· Alienation of affection
· Loss of consortium and contumelia
Case facts: 
· The husband and the wife were happily married up until the time of the affair
· The 2nd defendant the mistress worked for the husband she was secretary
· The 2nd defendant: knew at all times the plaintiff and 1st defendant were married, could see they were happily married as she saw them every day.
· The flaunting of an adulterous relationship = humiliation to the plaintiff
· As a result of the adultery the plaintiff lost her job
· The plaintiff suffered the hostility of her husband
· The 2nd defendant acted without sensitivity towards the plaintiffs hurt feelings
The court found: 
· that the plaintiff had defiantly suffered from the adulterous relationship because of the 2nd defendant
· That the plaintiff had experienced the: disintegration of her marriage, the hostility of her husband, the hurt and humiliation.
· Described it as disgraceful and warranted the award for damages.

The outcome:
· The court awarded the plaintiff: R20 000 for:
· Adultery
· Loss of consortium and contumelia
· Alienation of affection
· The 2nd defendant had to pay the plaintiffs cost of suit. 
